| Efficiency vs Dxy |

)
X

efficiency vs d

Ratio

0.8

o
\‘

0.5

0.4

0.3

0.2

0.1

1.

0.95

;_ .................................. ,' ....................................
VRN SN SO O 1T N SO SO
: !

3 &

44

5 _20-15-10 -5 0

5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127

0.8

0.7

0.6

efficiency vs dz

0.5

0.4

0.3

..............

0.2

o
T =+-+|_|\
o

..................

—— DQM_TT__mkFit-DQM_mod_updatedmod-127

...................................................

Ratio
&

09535 =20

2100 10 20 30

TP dz (cm)




	Contents
	Page 1


